N = 0l & At & Ml A

SN 2US
Hm: 2os AL
Sl FOXX(2YS) EEH-E)
2N -3 -2 (SH) - NHEAMY - BES Off &4 I E M Husz
s 323,172 359,895 136,723
sos ALY 212,872 249,715 136,843
FONX(E2LE) 23,360 40, 140 A 16,780
FOURKMYH 2Y 23,360 40, 140 A 16,780
201 Ler2 | 15,660 25,740 ~10,080
03 A2 | 13,080 23,160 ~10,080
OFURIIME DSLE BASY
30,0008 * 2AI2t * 723 « 24% 10,080 20, 160 ~10,080
301 LB HB 7,700 14,400 £6,700
12 J1EH 243 6,700 13,400 6,700
OFAMIAAE 3O &A g
30,0008 * 252 * 62 4,500 9,000 £ 4,500
OFQIRZIME RBBSAKX 22
11,0008 * 2% * 1002 2,200 4,400 A2,200
ZoI Bl A 119,917 127,717 A7,800
SRR D 28,717 33,517 £ 4,800
201 pte | 23,017 24,817 A1,800
03 A2 0 1,800 A 1,800
OJIOF2 =M + 24 0 1,800 ~1,800
202 01t 3,500 6,500 A3,000
01 20l bl 3,500 6,500 3,000
OYH#HEEET 04| 500,00080 * 79 3,500 6,500 £3,000
Folgse 91,200 94,200 £3,000
301 LptR M2 79,200 82,200 £3,000
09 BALAIHIXI 22 0 3,000 £3,000
OJIOIE St S/ BIIX 24 0 3,000 £3,000
X2t R ALY 64,045 76,308 A 12,263
X120 RI| ALY 64,045 76,308 A 12,263
101 @121t 16,045 27,208 A11,163
04 JIAHIERS B4 16,045 27,208 A11,163
O S MY II+IHARY 3,000 9,767 16,767
OANJIX RZ - o8 7,464 10,464 A3,000
OStz ZHJ| e 0 1,396 A 1,396
201 ete | 1,000 2,100 A1,100
01 Ak 22l 1,000 2,100 A 1,100
OJze BAZXMH I LXE 0 1,100 ~1,100
BZSAHY (2L S) 106,300 106, 180 120
12 Al 106,300 106, 180 120
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